JP Maths Revision

Identities

Exam Style Questions

1. For each of the following, tick the boxes to say whether it is an equation, expression,
identity or formula.

Equation Expression | Identity | Formula
3x—2=8x+6 l/
5x +y (/
2x + 3x = 5x /
A= mr L

3x(x + 2) = bx’ + 6x

x+DEx+2)=0

(2 marks)

2. For the following, identify whether it is an equation (=) or identity (=) by using the

correct symbols.

2x + 7 - |2

8x —2x | = | 6x
2x2+3x = 3x+2x2
1Ix -2 | = |—-x+7
x(x+2) Iz |5+ 2x

(2 marks)
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3. x(3x +a) = 3x° + 7x

Find the value of a.

1
3x tax = 22 t4 7X

o= T
(2 mark)
4. a(2x +3) = 14x + b
Find the values of a and b.
2ax+3a. = bl
2014 = o=~
Ja=h
3= Db=21
a= it
b= .2l..

(2 marks)
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5. 6(x +a) + b(x+7) = 9x + 33

Find the values of a and b.

Cxtbo tboxi7h = Gx+3}

Lin=Q b=}
bals = 33
6a+ ()33
Go421=33
Ca =12
oz=2
A
A = oo
b= il
(2 marks)
2 2
6. (a+ Dx +3b=2x + 6
Find the values of a and b.
o+l = 2 ) a_—_'
Rb=6 > b= 22
a=
b= .%..

(2 marks)
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7. a(x +4) + 5(2x + b) = 17x + 33

Find the values of a and b.
QX +ua. +ox+Sh =17x 42

0410 =17 Da=-+1

la+18% =33
L(HYESH =353
[5) \D - g = b:l
2
A = oeeeerererennn
b= ..\
(2 marks)
8 —3x+1)+alx—b) = —x—-11
Find the values of a and b.
—3x-3 4ax-ahy = -x -
310 =2\ 5.q =2
~3-ah = -\
“%-sz-\}
2y -5
b=y
A
A = e
b= A

(2 marks)
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9. 3ax + 7+ 2(x + b) = 17x + 15

Find the values of a and b.

Fax+T +2x+2h 2\Fx 415

Ja+ 2 2\q
W =\D D =S

Fx2h =\§
2= &
h=4

4= o
b= . Ho
(2 marks)
10.(x + 4)(x + 2) + ax + b =x° + 13x + 10
Find the values of a and b.
2 2
X+ 22 44x4% +ax 4 TX ADXHIO
2+ Lo = 1R
Gtoc=3 Dqa-=7
St =10 D b2
a= T
b= .2

(2 marks)
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11.23x - D@ +3) + ax’ —b = 7x" + 16x — 7
Find the values of a and b.
2
2 (3x2+%t- 1-33 tax -b = Fx t16x-T
YA
G:oz £ \8%—11~é +axl~b 2 Fx +(bx-1

Cro=7 Da=)

-6-b =-7 > b=

A = e
b= .,
(2 marks)
2 2
12.(x —1) +alx—1)—x+b=x
Find the values of a and b.
(1—0 (x-") xax -6 ~x+b = x°
961—29(44 fAX ~a~x+b = x?
-2to~\l = O
a-3=0 S &=Y
| —a+hy = O
-3 +b =0
~24b =0 q = 3
b=2 ho 2

(2 marks)
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13. (x + a)(x + 2a) = X+ 3bx + 2
Given that a is a negative integer, find the values of a and b.

2 2
Z‘ClJrZo.x-t ax 20, = x + R £2

(A
ocﬂ%ax&?al s oo L8x 72

da =3y
37 3p > ber a= Tl
b= .l
(2 marks)
2 2
14.(x + b) =x + ax + 49
Given that b is a positive integer, find the values of a and b.
2 2 2
2 t2bx +b = x tax<4Q
b H4a D b=t
b § {)Oim
So b="
26 =0 Da=207)
~\4
a= 1% ..
b= T

(2 marks)
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15.6x° + 9x° = (a + b)x3 + abx’

Find the values of a and b.
atbh= €

-9
ab=9q S a=—
L

(3 marks)

16.7x + 2 = (2a + b)x + (a + b)

Find the values of a and b.

20 +b =+
o+ =9

oz S
b=-3

(3 marks)
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17. ax’ + (b+c)x2+ (2b+3c)x+dE3x3+5x+7

Find the values of a, b, c and d.

a=2d
bt € = O @3&3023
2 2C =~
2v+3¢ =8 * ©
C =
A =7 S

--%

3
A = e
b= ..3..
C= D
d=
(3 marks)
ax2+7x+b
18 iz =X + 2
Find the values of a and b.
)
ax «7xth = (xeo (2x¢3 )
OJLQ« Ix 40 = 27(,2*‘-71&4
a -2
bz-g
2
A = eoorerereeeeeene
p= .6

(2 marks)
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(x+D)(x+2)(x+a)(bx+1) _
19. (x+3)(2x+ 1) =@+ D +2)

Write down the values of a and b.

a=3 b=2

(2 marks)




